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1. Pawan Medical supplies medicines. On some

medicines, the rate of GST is 12% then what is

the rate of CGST and SGST?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eX0JnHchOVsJ

° Watch Video Solution

2. On certain article , if the rate of CGST is 9%
then what is the rate of SGST ?What is the rate

of GST?

° Watch Video Solution

3. M/s Real Paint sold 2 tins of lustre paint and

taxable value of each tin is ¥2800. If the rate of


https://dl.doubtnut.com/l/_eX0JnHchOVsJ
https://dl.doubtnut.com/l/_7vYVDx9PWQ6A
https://dl.doubtnut.com/l/_33SJqSIf35QE

GST is 28%, then find the amount of CGST and

SGST in the tax invoice.

° Watch Video Solution

4. The taxable value of wrist watch belt is ¥586.
Rate of GST is 18%, then what is price of the

belt for the customer?

° Watch Video Solution



https://dl.doubtnut.com/l/_33SJqSIf35QE
https://dl.doubtnut.com/l/_E9j7v8rhu37T

5. The total value (with GST) of a remote
controlled toy car is ¥1770. Rate of GST is 18%
on toys. Find the taxable value, CGST and SGST

for this toy-car.

o Watch Video Solution

6. Tip top Electronics supplied an AC of 1.5 ton
to a company . The cost of AC supplied is Rs
51,200 (with GST). The rate of CGST on AC is

14% . Then find the following amounts as


https://dl.doubtnut.com/l/_o2Ne0J2HxdCN
https://dl.doubtnut.com/l/_YpGgjzrpZ98X

shown in tax invoice of tip top electronics:

Amount of SGST.

° Watch Video Solution

7.Tip top Electronics supplied an AC of 1.5 ton
to a company . The cost of AC supplied is Rs
51,200 (with GST). The rate of CGST on AC is
14% . Then find the following amounts as
shown in tax invoice of tip top electronics:

Amount of CGST

° Watch Video Solution



https://dl.doubtnut.com/l/_YpGgjzrpZ98X
https://dl.doubtnut.com/l/_H3fh25CXOxOb

8. Tip top Electronics supplied an AC of 1.5 ton
to a company . The cost of AC supplied is Rs
51,200 (with GST). The rate of CGST on AC is
14% . Then find the following amounts as
shown in tax invoice of tip top electronics:

Taxable value of AC

o Watch Video Solution

9.Tip top Electronics supplied an AC of 1.5 ton

to a company . The cost of AC supplied is Rs


https://dl.doubtnut.com/l/_H3fh25CXOxOb
https://dl.doubtnut.com/l/_8acltYc9mtGn
https://dl.doubtnut.com/l/_YoTzmVLAvUmT

51,200 (with GST). The rate of CGST on AC is
14% . Then find the following amounts as
shown in tax invoice of tip top electronics:

Total amount of GST.

o Watch Video Solution

10. Tip top Electronics supplied an AC of 1.5
ton to a company . The cost of AC supplied is
Rs 51,200 (with GST). The rate of CGST on AC is

14% . Then find the following amounts as


https://dl.doubtnut.com/l/_YoTzmVLAvUmT
https://dl.doubtnut.com/l/_3xdMLIuZFHC0

shown in tax invoice of tip top electronics:

Amount of CGST

° Watch Video Solution

11. Tip top Electronics supplied an AC of 1.5 ton
to a company . The cost of AC supplied is Rs
51,200 (with GST). The rate of CGST on AC is
14% . Then find the following amounts as
shown in tax invoice of tip top electronics:

Amount of SGST.

° Watch Video Solution



https://dl.doubtnut.com/l/_3xdMLIuZFHC0
https://dl.doubtnut.com/l/_WD3y4zQCFiS3

12. Prasad purchased a washing machine from
Maharashtra Electronic Goods The discount of
5% was given on the printed price of

Rs 40000 The rate of GST chrged was 28 %
find the purchased price

of the washing machine for prasad also find
the amount of CGST

and SGST shown in the tax invoice

o Watch Video Solution



https://dl.doubtnut.com/l/_WD3y4zQCFiS3
https://dl.doubtnut.com/l/_vZiisGfHFrDn

13. Chetana store paid GST Rs 1,00,500 at the
time of purchase and collected GST Rs 1,22,500
at the time of sale during 1st of july 2017 to
31st july 2017. Find the GST payable by Chetana

Stores.

o Watch Video Solution

14. Nazama is a proprietor of a firms
registered under GST. She paid GST Rs 12,500

on purchase and collected GST Rs 14,750 on


https://dl.doubtnut.com/l/_LjjaWiWkdfw9
https://dl.doubtnut.com/l/_1pLZTum3lRMI

sale . What is the amount of ITC to be claimed

? What is the amount of GST payable ?

o Watch Video Solution

15. Amir Enterprise purchased chocolate sauce
bottles and paid GST of ¥3800. He sold those
bottles to Akbari Bros. and collected GST of
34100. Mayank Food Corner purchased these
bottles from Akbari Bros and paid GST of

¥4500. Find the amount of GST payable at


https://dl.doubtnut.com/l/_1pLZTum3lRMI
https://dl.doubtnut.com/l/_OaOlpMXE2aKm

every stage of trading and hence find payable

CGST and SGST.

o Watch Video Solution

16. Malik Gas Agency (Chandigarh Union
Territory) purchased some gas cylinders for
industrial use for ¥24,500 and sold them to
the local customers for ¥26,500. Find the GST
to be paid at the rate of 5% and hence the

CGST and UTGST to be paid for this


https://dl.doubtnut.com/l/_OaOlpMXE2aKm
https://dl.doubtnut.com/l/_gQoBLEZ4zzfP

transaction. (for Union Territories there is

UTGST instead of SGST).

° Watch Video Solution

17. M/s Beauty Products paid 18% GST on
cosmetics worth 6,000 and sold to a
customer for ¥10,000. What are the amounts
of CGST and SGST shown in the tax invoice

issued?

° Watch Video Solution



https://dl.doubtnut.com/l/_gQoBLEZ4zzfP
https://dl.doubtnut.com/l/_DaP9SrV3PRpl
https://dl.doubtnut.com/l/_wuorftvB7g3o

18. Prepare Business to Customer(B2C) tax
invoice using given information.Write the
name of the supplieraddress,statedate of
invoice  number,GSTIN etcas per your
choice.Supplier:m/s.......... Address...........

State.....o.... Date............. Invoice NO:..eees
GSTIN......... particluars-Rate of mobile battery-
T200,Rate of GST 12%,HSN 85071 pc. Rate of

Headphone<®750,Rate of GST 18%,HSN 8518, 1

pcC.

o Watch Video Solution



https://dl.doubtnut.com/l/_wuorftvB7g3o
https://dl.doubtnut.com/l/_WPePYn77670X

19. Prepare Business to Business(B2B)Tax
Invoice as per the details given below.name of
the supplier,address,Date etc as per your
choice.Supplier -
Name,Address,State,GSTIN,Invoice NO,Date
Recipient -Name,Address,State,GSTIN, Items:
(1)Pencil boxes 100,HSN-3924 Rate ¥20,GST 12%.
(2))Jigsaw Puzzles 50,HSN-9503,Rate ¥100 GST

12%.

o Watch Video Solution



https://dl.doubtnut.com/l/_WPePYn77670X
https://dl.doubtnut.com/l/_mrCNNOi0ATVo

20. Prepare Business to Business(B2B)Tax
Invoice as per the details given below.name of
the supplier,address,Date etc as per your
choice.Supplier -
Name,Address,State,GSTIN,Invoice NO,Date
Recipient -Name,Address,State,GSTIN, Items:
(1)Pencil boxes 100,HSN-3924 Rate ¥20,GST 12%.
(2))Jigsaw Puzzles 50,HSN-9503,Rate ¥100 GST

12%.

o Watch Video Solution



https://dl.doubtnut.com/l/_mrCNNOi0ATVo

21. Mr. Amol purchased 50 shared of Face value
100 when the Market value of the share was
80. Company had given 20% dividend. Find

the rate of return on investment.

o Watch Video Solution

22. Joseph purchased following shares, Find
his total investment.

Company A: 200 shares, FV=2 Premium =18.


https://dl.doubtnut.com/l/_xH8qJNLoR3To
https://dl.doubtnut.com/l/_R8ekgsbrtuzo

Company B : 45 shares, MV=500

Company C: 1 share, MV=10,540

° Watch Video Solution

23. Smt Deshpande purchased shares of FV Rs
5 at a premium of Rs 20 . How many shares will

she get for Rs 20,0007

° Watch Video Solution



https://dl.doubtnut.com/l/_R8ekgsbrtuzo
https://dl.doubtnut.com/l/_WYd43XZ65yWL

24. Shri Shantilal purchased 150 shares of FV
Rs 100 for MV of Rs 120. Company paid the
dividend at 7% . Find the rate of return on his

investment.

o Watch Video Solution

25. If the face value of both the shares is same,
then which investment

out of the following is more profitable?


https://dl.doubtnut.com/l/_AhaEjsvqSRC3
https://dl.doubtnut.com/l/_QV9K8Ozk8Q6i

Company A : dividend 16%, MV=80,

Company B : dividend 20%, MV=120.

° Watch Video Solution

26. Nalinatai invested ¥6024 in the shares of
FV 310 when the market value was ¥60. She
sold all the shares at MV of 50 after taking
60% dividend. She paid 0.4% brokerage at
each stage of transaction. What was the total

gain or loss in this transaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_QV9K8Ozk8Q6i
https://dl.doubtnut.com/l/_jBDF7oxh5VV5

27. Market value of a share is Rs 200 . If the
brokerage rate is 0.3% then find the purchase

the value of the share.

o Watch Video Solution

28. A share is sold for the market value of Rs
1000. Brokerage is paid at the rate of 0.1% .

What is the amount received after the sale ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jBDF7oxh5VV5
https://dl.doubtnut.com/l/_neTmc1bS9RnJ
https://dl.doubtnut.com/l/_PkzCBkrVwkTe

29. Smt.Desai sold shares of face value ¥100
when the market value was ¥50 and received
¥4988.20. She paid brokerage 0.2% and GST on
brokerage 18%, then how many shares did she

sell?

o Watch Video Solution

30. Mr.D'souza purchased 200 shares of FV 50
at a premium of ¥100. He received 50%

dividend on the shares. After receiving the


https://dl.doubtnut.com/l/_v1OVgyYMbejw
https://dl.doubtnut.com/l/_nlwY5gnT4Ihi

dividend he sold 100 shares at a discount of
¥10 and remaining shares were sold at a
premium of ¥75. For each trade he paid the
brokerage of ¥20. Find gain or loss value of Mr.

D'souza.

o Watch Video Solution

31. Write the correct alternative for each of the
following:
The rate of GST on stainless steel utensils is

18% , then the rate of state GST is...


https://dl.doubtnut.com/l/_nlwY5gnT4Ihi
https://dl.doubtnut.com/l/_Vr05rfAla5n2

A.0.05

B.0.12

C.0

D. 0.8

Answer:

o Watch Video Solution

32. The tax levied by the central government
for trading within state is....a)IGST b)CGST

c)SGST d)UTGST


https://dl.doubtnut.com/l/_Vr05rfAla5n2
https://dl.doubtnut.com/l/_KiTpQYRjbF1j

A. IGST

B. CGST

C. SGST

D. UTGST

Answer:

o Watch Video Solution

33. Write the correct alternative for each of

the following:


https://dl.doubtnut.com/l/_KiTpQYRjbF1j
https://dl.doubtnut.com/l/_34Lrqum0egIU

GST Sysem was introduced in our country from

A. 31st march ,2017

B. 1st april ,2017

C. 1st january ,2017

D. 1st july ,2017

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_34Lrqum0egIU

34. Write the correct alternative for each of
the following:
The rate of GST on stainless steel utensils is
18% , then the rate of state GST is...

A. (a) 0.18

B. (b) 0.09

C.(c) 0.36

D. (d) 0.009

Answer:

‘ ° Wiak lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_KxCrMUgQwFIK

YVOILLIL VI INAGINIE ] J

35. Write the correct alternative for each of
the following:
In the format of GSTIN there are ... Alpha-
numerals

A. 15

B. 10

C.16

D.9


https://dl.doubtnut.com/l/_KxCrMUgQwFIK
https://dl.doubtnut.com/l/_SpVtBdyYeVoC

Answer:

o Watch Video Solution

36. Write the correct alternative for each of
the following:

When a registered dealer sells goods to
another registered dealer under GST, then this

trading is termed as....

A. BB

B.B2B


https://dl.doubtnut.com/l/_SpVtBdyYeVoC
https://dl.doubtnut.com/l/_KaAxaa69SpuX

C.BC

D.B2C

Answer:

o Watch Video Solution

37. A dealer gives 10% discount on a show
piece of ¥25,000. GST of 28% was charged on
the discounted price. Find the total amount
shown in the tax invoice. What is the amount

of CGST and SGST?



https://dl.doubtnut.com/l/_KaAxaa69SpuX
https://dl.doubtnut.com/l/_OATogQoUa4Q5

\ ° Watch Video Solution

38. A ready made garment shopkeeper gives
5% discount on the dress of ¥1000 and
charges 5% GST on the remaining amount,
then what is the purchase price of the dress

for the customer?

° Watch Video Solution



https://dl.doubtnut.com/l/_OATogQoUa4Q5
https://dl.doubtnut.com/l/_6HjmyWQl8acZ

39. A trader from Surat sold cotton clothes to
a trader in Rajkot. The taxable value of cotton
clothes is 2.5 lakhs. What is the amount of

GST at 5% paid by the trader in Rajkot?

o Watch Video Solution

40. Smt. Malhotra purchased solar panels for
the taxable value of ¥85,000. She sold them for

¥90,000.The rate of GST is 5%. Find the ITC of


https://dl.doubtnut.com/l/_dHgugI084C4x
https://dl.doubtnut.com/l/_udETeGhUoH0I

Smt. Malhotra. What is the amount of GST

payable by her?

o Watch Video Solution

41. A company provided Z- security services for
the taxable value of Rs 64,500.Rate of GST is
18% Company had paid GST Rs 1550 for
laundary services and uniforms , etc ,What is
the amount of ITC(input tax credit)? Find the
amount of CGST and SGST payable by the

company.

| e |


https://dl.doubtnut.com/l/_udETeGhUoH0I
https://dl.doubtnut.com/l/_oeKsjAjMvCoc

& Wwatch Video Solution I

42. A dealer supplies walky-Talky set of
¥84,000(with GST) to police control room.
Rate of GST is 12%. Find the amount of state
and central GST charged by the dealer. Also

find the taxable value of the set.

° Watch Video Solution

43. A wholesaler purchased electric goods for

the taxable amount of ¥1,50,000. He sold it to


https://dl.doubtnut.com/l/_oeKsjAjMvCoc
https://dl.doubtnut.com/l/_S3pXHnD2U161
https://dl.doubtnut.com/l/_TbkFQ36jfu92

the retailer for the taxable amount of
31,80,000. Retailer sold it to customer for
3¥2,20,000. Rate of GST is 18%. Show the
computation of GST in tax invoices of sales.
Also find the payable CGST and payable SGST

for wholesaler and retailer.

o Watch Video Solution

44, Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai

(Mumbai, Maharashtra) for the taxable value


https://dl.doubtnut.com/l/_TbkFQ36jfu92
https://dl.doubtnut.com/l/_Nws7LtNjB054

of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-
(1)Amount of CGST and SGST shown in the tax
invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in
Vasai. (3)What is the CGST and SGST payable
by shopkeeper in Vasai at the time of filing the

return?

o Watch Video Solution



https://dl.doubtnut.com/l/_Nws7LtNjB054

45. Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai
(Mumbai, Maharashtra) for the taxable value
of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-
(1)Amount of CGST and SGST shown in the tax
invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in
Vasai. (3)What is the CGST and SGST payable
by shopkeeper in Vasai at the time of filing the

return?


https://dl.doubtnut.com/l/_rZ2UgvRhJX48

O Watch Video Solution

46. Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai
(Mumbai, Maharashtra) for the taxable value
of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-
(1)Amount of CGST and SGST shown in the tax
invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in

Vasai. (3)What is the CGST and SGST payable


https://dl.doubtnut.com/l/_rZ2UgvRhJX48
https://dl.doubtnut.com/l/_P1GTA385Y7tX

by shopkeeper in Vasai at the time of filing the

return?

° Watch Video Solution

47. If the face value of a share is ¥100 and

Market value is ¥75Then which of the

following statement is correct?

A. The share is at a premium of Rs 175

B. The share is at a discount of Rs 25.

C.The share is at a premium of Rs 25


https://dl.doubtnut.com/l/_P1GTA385Y7tX
https://dl.doubtnut.com/l/_I3n7QMEqxgPX

D. The share is at a discount of Rs 75

Answer:

° Watch Video Solution

48. What is the amount of dividend received

per share of face value %10 and dividend

declared is 50%

A. (a) Rs 50

B.(b) Rs 5


https://dl.doubtnut.com/l/_I3n7QMEqxgPX
https://dl.doubtnut.com/l/_FQ3OXNaQBr43

C. (c) Rs 500

D. (d) Rs 100

Answer:

o Watch Video Solution

49. The NAV of a unit in mutual fund scheme is
%10.65 then find the amount required to buy

500 such units.

A. (a) Rs 5325


https://dl.doubtnut.com/l/_FQ3OXNaQBr43
https://dl.doubtnut.com/l/_4WUyHJoHHNA0

B. (b) Rs 5235

C. Rs 532500

D. Rs 53250

Answer:

o Watch Video Solution

50. Rate of GST on brokerage is

A. 0.05

B.0.12


https://dl.doubtnut.com/l/_4WUyHJoHHNA0
https://dl.doubtnut.com/l/_wFmySr7SdwnG

C.0.18

D. 0.28

Answer:

o Watch Video Solution

51. To find the cost of one share at the time of
buying the amount of brokerage and GST is to

be ... the MV of share.

A. added to


https://dl.doubtnut.com/l/_wFmySr7SdwnG
https://dl.doubtnut.com/l/_nLZE5mLCrF1e

B. subtracted from

C. multiplied with

D. divided by

Answer:

o Watch Video Solution

52. Find the purchase price of a share of FV
%100 if it is at premium of ¥30. The brokerage

rate is 0.3%

I o Watch Video Solution


https://dl.doubtnut.com/l/_nLZE5mLCrF1e
https://dl.doubtnut.com/l/_nF10YKjxMt1b

53. Prashant bought 50 shares of FV %100
having MV ¥180. Company gave 40% dividend
on the shares. Find the rate of return on

investment.

° Watch Video Solution

54.Find the amount received when 300 shares

of FV X100, were sold at a discount of X30.

o Watch Video Solution



https://dl.doubtnut.com/l/_nF10YKjxMt1b
https://dl.doubtnut.com/l/_U2SKZMvN6Q1K
https://dl.doubtnut.com/l/_mKRLGJGRHtXV

55. Find the number of shares received when

60, 000 was invested in the shares of FV X100

and MV X120.

o Watch Video Solution

56. Smt. Agarwal invested ¥10,200 when MV of
the share is ¥100. She sold 60 shares when the
MV was %125 and sold remaining shares when

the MV was ¥90. She paid 0.1% brokerage for


https://dl.doubtnut.com/l/_mKRLGJGRHtXV
https://dl.doubtnut.com/l/_qq0Msva8y2Ae
https://dl.doubtnut.com/l/_BKFWKdpbwrjv

each trading. Find whether she made profit or

loss? And how much?

° Watch Video Solution

57. Market value of shares and dividend
declared by the two companies is given below.
Face value is same and it is 100 for both the
shares. Investment in which company is more
profitable?

a. Company A -160, 15%

b. Company B -225, 20%

| |


https://dl.doubtnut.com/l/_BKFWKdpbwrjv
https://dl.doubtnut.com/l/_RXk88SE94MLo

& Watch Video Solution I

58. Shri Aditya Sanghavi invested ¥50,118 in
shares of FV of ¥100, when the market value is
¥50. Rate of brokerage is 0.2% and rate of GST
on brokerage is 18%, then how many shares

were purchased for ¥50,118?

° Watch Video Solution

59. Shri.Batliwala sold shares of ¥30,350 and

purchased shares of ¥69,650 in a dayHe paid


https://dl.doubtnut.com/l/_RXk88SE94MLo
https://dl.doubtnut.com/l/_poSwiWbnogLh
https://dl.doubtnut.com/l/_TQjg5H0fo3m2

brokerage at the rate of 01% on sale and
purchasel8% GST was charged on
brokerage.Find his total expenditure on

brokerage and tax.

o Watch Video Solution

60. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.


https://dl.doubtnut.com/l/_TQjg5H0fo3m2
https://dl.doubtnut.com/l/_U2hlmwJv0VkC

(i) Brokerage paid on sum invested.
(ili) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

61. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_U2hlmwJv0VkC
https://dl.doubtnut.com/l/_c4HMAn0IPU5l

(i) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

° Watch Video Solution

62. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_c4HMAn0IPU5l
https://dl.doubtnut.com/l/_iROnewZJthTN

(i) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

° Watch Video Solution

63. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_iROnewZJthTN
https://dl.doubtnut.com/l/_Tduis2Pa76LY

(iii) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

64. Smt Anagha Doshi purchased 22 shares of
FV Rs 100 for market value Of Rs 660. Find the
sum invested . After receiving 20% dividend ,
she sold sll the shares when market value was
Rs 650. She paid 0.1% brokerage for each

trading done. Find the per cent of profit or


https://dl.doubtnut.com/l/_Tduis2Pa76LY
https://dl.doubtnut.com/l/_7raXZ8RMouxm

loss in the share trading .(Write your answer

to the nearest integer.)

° Watch Video Solution

1. The market value of a mutual fund is Rs 400

crore, which is divided into 8 crore units.
Suppose you invest Rs 10,000 in the units, how

many units will you get?

o Watch Video Solution



https://dl.doubtnut.com/l/_7raXZ8RMouxm
https://dl.doubtnut.com/l/_A3dOW3q4g3uC

2. The market value of a mutual fund is Rs 400
crore, which is divided into 8 crore units.

While selling the units , if their market value is
increased by 10% , how much amount will you

get by selling them ?

o Watch Video Solution

3. M/s X electronicspurchased a mobile having
some taxable value and sold it to a customer

for Rs 10,000(taxable value). The rate of GST is


https://dl.doubtnut.com/l/_A3dOW3q4g3uC
https://dl.doubtnut.com/l/_2ZuX6W1rU1bq
https://dl.doubtnut.com/l/_4NgmYilaCR8l

12% .M/s X electronics paid SGST of Rs 60 .
What is the purchase price of the mobile for

M/s X electronics?

° Watch Video Solution

4. Write the correct alternative for each of the

following :

The rate of GST on bread is .........

A.0.05

B.0.12


https://dl.doubtnut.com/l/_4NgmYilaCR8l
https://dl.doubtnut.com/l/_rwQ0KX0Lac6Z

C.0

D. 0.8

Answer:

o Watch Video Solution

5. Write the correct alternative for each of the

following :
What is the GST levied by central government,

for inter state trading , known as ?


https://dl.doubtnut.com/l/_rwQ0KX0Lac6Z
https://dl.doubtnut.com/l/_5KPf6RDWcpV1

A ITC

B. IGST

C. CGST

D. SGST

Answer:

° Watch Video Solution

6. Write the correct alternative for each of the
following :

If a share is at a premium , then


https://dl.doubtnut.com/l/_5KPf6RDWcpV1
https://dl.doubtnut.com/l/_H16nV7UpmSxw

A. MV gt FV

B. MV It FV

C. MV=FV

D. MV le FV

Answer:

° Watch Video Solution

7. Write the correct alternative for each of the

following :


https://dl.doubtnut.com/l/_H16nV7UpmSxw
https://dl.doubtnut.com/l/_g8yhv2N4o1Ax

What is the business between the retailer and

the consumer under GSTIN known as ?

A. BB

B.B2B

C.BC

D.B2C

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_g8yhv2N4o1Ax

8. Write the correct alternative for each of the
following :

The amount collected by a trader to be paid to
the government from the amount paid by him

to the government is known as....

A ITC

B. GST

C. OTC

D.IT

Answer:


https://dl.doubtnut.com/l/_tk6O3Bb4x6uq

° Watch Video Solution

9. Write the correct alternative for each of the

following :

What is the market value of a share with face

value Rs 10 at a discount of Rs 2 ?

A.Rs 2

B.Rs 8

C.Rs 12

D.Rs 10


https://dl.doubtnut.com/l/_tk6O3Bb4x6uq
https://dl.doubtnut.com/l/_FI4yWssA4vtW

Answer:

o Watch Video Solution

10. Write the correct alternative for each of
the following :

To find the amount received on selling shares
the amount of brokerage and GST is to be the

market value of the share.

A. added to

B. subtracted from


https://dl.doubtnut.com/l/_FI4yWssA4vtW
https://dl.doubtnut.com/l/_wbf1tdnc4Vfw

C. multiplied with

D. divided by

Answer:

° Watch Video Solution

11. The taxable value of an article is Rs 800.

How much GST is to be paid at the rate of 5%

o Watch Video Solution



https://dl.doubtnut.com/l/_wbf1tdnc4Vfw
https://dl.doubtnut.com/l/_Cu0zZ0hHkCfR

12. The output tax on an electrical item is Rs
2500 and the input tax is Rs 2000. What is the

ITC ?

o Watch Video Solution

13. A shopkeeper sold a mixer costing Rs 5000
to a consumer giving him 5% discount. What

is the taxable value of the mixer ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IBztLOniWgMs
https://dl.doubtnut.com/l/_gXyaSYF5YrM6
https://dl.doubtnut.com/l/_Zy0BH6hcan14

14. Courier service agent charged Rs 108 on
the taxable value of Rs 600 . What is the rate

of GST charged ?

o Watch Video Solution

15. A trader collects GST at 12% on an article

costing Rs 1000. What is his output tax ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Zy0BH6hcan14
https://dl.doubtnut.com/l/_uXGXnn3W4NrS

16. A trader collected Rs 30,000 as GST in the
month of july. If his ITC is Rs 22,000. What is

his payable CGST ?

o Watch Video Solution

17. What amount should be invested to buy
1000 units at NAV Rs 12 ? How many units can

be purchased for Rs 1200 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_souTOYe6Dx7O
https://dl.doubtnut.com/l/_8zwfqc4XbiDd
https://dl.doubtnut.com/l/_baECne9tfyYT

18. What amount is to be invested to buy 20
shares of face value Rs 50 at par ? If these
shares had been at a discount of Rs 2 , then
how much less would have been the

investment ?

o Watch Video Solution

19. What is the investment to purchase 80
shares of FV Rs 10 at a premium of Rs 5 7 How

many shares can be purchased for Rs 300 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_baECne9tfyYT
https://dl.doubtnut.com/l/_dz9N30HwGy3D

20. The share of FV Rs 100 is at a discount of

Rs 9. What is the MV of the share ?

° Watch Video Solution

21. The share of FV Rs 100 is at a discount of Rs

If the brokerage is Rs 1 per share, then what is

the investment to purchase 1share ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dz9N30HwGy3D
https://dl.doubtnut.com/l/_9tpNXhjsvh5Y
https://dl.doubtnut.com/l/_oftS2bKCDrbA

22. Prasad purchased a share of FV Rs 100
when its MV was Rs 150 . Company declared a
dividend of 12% on the share . What was the
rate of return on the investment made by

Prasad ?

o Watch Video Solution

23. What is the brokerage at 2% on a share of

MV Rs 120 ?

l o Watch Video Solution


https://dl.doubtnut.com/l/_oftS2bKCDrbA
https://dl.doubtnut.com/l/_EHYVQIleiACz
https://dl.doubtnut.com/l/_EM0Q2iCUnrMg

24.The MV of a share is 150 . Brokerage 0.5% .
What amount will one receive after selling 20

such shares ?

° Watch Video Solution

25. The MV of shares is Rs 5000. Brokerage is
paid at 1% and the rate of GST on brokerage is

18% . What is the amount of GST ?

° Watch Video Solution



https://dl.doubtnut.com/l/_EM0Q2iCUnrMg
https://dl.doubtnut.com/l/_6AgjsubDT4Kl
https://dl.doubtnut.com/l/_sdhkd4O7qm5i

26. The taxable value of LPG cylinder is Rs 590
and the rate of GST is 5% . How much CGST is

to be paid ?

° Watch Video Solution

27. Market value of a share is Rs 200 . If the
brokerage rate is 0.3% then find the purchase

the value of the share.

° Watch Video Solution



https://dl.doubtnut.com/l/_sdhkd4O7qm5i
https://dl.doubtnut.com/l/_f7zsNeRxZX8u
https://dl.doubtnut.com/l/_R9SSwC60VQb6

28. Unity Electronics sold 5 mobiles each of
taxable value Rs 7200 . If the rate of GST is 12%

then find the amount of CGST and SGST

charged in the invoice.

o Watch Video Solution

29. Renuka purchased sweets costing Rs 300
from a Sweet Mart. If the rate of GST is 5%,

how much did she pay for the sweets ?

o Watch Video Solution



https://dl.doubtnut.com/l/_R9SSwC60VQb6
https://dl.doubtnut.com/l/_x5buJD2JACoD
https://dl.doubtnut.com/l/_XWlfRmjM7kT1

30. Shri Desai purcahsed one share at MV Rs
125. The FV of the share is Rs 100 . If the
company declared 20% dividend , what is the

rate of return for shri Desai ?

o Watch Video Solution

31. A dividend of 9% was declared on a share
of FV Rs 100 at a certain price. If the rate of

return is 7.5% calculate MV of the share. How


https://dl.doubtnut.com/l/_XWlfRmjM7kT1
https://dl.doubtnut.com/l/_V37p1ahE5HBG
https://dl.doubtnut.com/l/_bgpjzxsBxfmo

many shares would a person get on investing

Rs 8400 ?

° Watch Video Solution

32. Suresh invests some amount in the
following companies.

Companies A : FV Rs 100, Mv Rs 120, dividend
declared 12%.

Companies B : Fv Rs 100, MV Rs 90, dividend
declared 8.1%

In which company is the investment better ?

| e |


https://dl.doubtnut.com/l/_bgpjzxsBxfmo
https://dl.doubtnut.com/l/_ncuhbpFeqLxW

& Watch Video Solution I

33. Shobhanatai invested Rs 18,000 to
purchase shares of FV Rs 10 at a discount of
10% . How many shares did she purchase ? She
sold all the shares when the MV was at a

premium of Rs 2. What was her profit ?

° Watch Video Solution

34. Smita invested in shares as follows. Find

the total number of shares she bought.


https://dl.doubtnut.com/l/_ncuhbpFeqLxW
https://dl.doubtnut.com/l/_21hyH9OnTQhA
https://dl.doubtnut.com/l/_4acnF0JiRxkW

Company A : FV = Rs 10, premium = Rs 2,
Investment = Rs 4200
Company B : FV = Rs 100, Discount = Rs 5 ,

Investment = Rs 14250

o Watch Video Solution

35. Nishith sold 1000 shres of FV Rs 100 at a
discount of Rs 31.43 .03 % brokerage was paid .
F ind the brokerage per share

with approximation .


https://dl.doubtnut.com/l/_4acnF0JiRxkW
https://dl.doubtnut.com/l/_HNHRmPFgjxXg

without approximation . What will be the

difference in the selling price ?

° Watch Video Solution

36. Amit bought 24 shares of FV Rs 100 by
investing Rs 3000. 8% dividend was declared

on shares . Find the MV of the share.

° Watch Video Solution



https://dl.doubtnut.com/l/_HNHRmPFgjxXg
https://dl.doubtnut.com/l/_w3twH1dAtjjW

37. Amit bought 24 shares of FV Rs 100 by
investing Rs 3000. 8% dividend was declared
on shares . Find the rate of return on the

investment.

o Watch Video Solution

38. A ready -made garment shopkeeper gives
5% discount on the dress of Rs 2000 and

charges 5% GST on the remaining amount.


https://dl.doubtnut.com/l/_zJcAbHn4Y2Uh
https://dl.doubtnut.com/l/_KD0XQual7wGB

What is the purchase price of the dress for the

customer?

° Watch Video Solution

39. Anil purchased a laptop for MRP Rs 50,000.
10% discount on MRP was given 18% GST was
charged on discounted price. Find the amount

of CGST and SGST . What amount did Anil pay ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KD0XQual7wGB
https://dl.doubtnut.com/l/_wslfxx7WDSbL

40. M/s Roy purchased some chemicals for Rs
8850 (with GST ) and sold it to the consumef
for Rs 9440 (with GST ) . The rate of GST is 18%
Find the amount of CGST and SGST payable by

M/s Roy.

o Watch Video Solution

41. A trader sold ceilling fans for Rs 56,00 (with

GST ).The rate of GST is 12% . Find the amount


https://dl.doubtnut.com/l/_4BgtuosKdVXf
https://dl.doubtnut.com/l/_tC79oQFNi7Qi

of CGST and SGST payable by the trader . Also

find the taxable value of the ceiling fans sold.

° Watch Video Solution

42. Shri Anand Dev bought solar panel of
taxable value Rs 90,000. He sold the same for
taxable value Rs 1,30,000. If the rate of GST is
5%, what is the amount of ITC ? How much GST

is payable by Shri Anand Dec ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tC79oQFNi7Qi
https://dl.doubtnut.com/l/_9OX90Cb67lFv
https://dl.doubtnut.com/l/_gJRvPOnmha4n

43. Bhujangaro invested Rs 2,50,590 in shares
of FV Rs 10 When MV is Rs 250. Rate of
brokerage is 0.2% and GST is 18%. Find the

number of shares purchased.

° Watch Video Solution

44, Bhujangaro invested Rs 2,50,590 in shares
of FV Rs 10 When MV is Rs 250. Rate of
brokerage is 0.2% and GST is 18%. Find the

amount of brokerage paid,

l ° Watch Video Solution


https://dl.doubtnut.com/l/_gJRvPOnmha4n
https://dl.doubtnut.com/l/_O01p96XD314J

45. Bhujangaro invested Rs 2,50,590 in shares
of FV Rs 10 When MV is Rs 250. Rate of
brokerage is 0.2% and GST is 18%. Find GST

paid for trading.

o Watch Video Solution



https://dl.doubtnut.com/l/_O01p96XD314J
https://dl.doubtnut.com/l/_bcZmicyNXV1s

